K8 wérksheets

Slope

WS #1

1) (4,—1)and (-2,3)

Rise (Ay) = C]
Run (Ax) = C]

Ay
Slope = —=
oP€ = ax D

4) (=5,8)and (-2,—-1)

Rise (Ay) = @
Run (Ax) = B

Ay
Sl = —-=
P = ax D

7) (=2,1) and (8,3)

Rise (Ay) = [:]
Run (Ax) = @

Ay
Slope = v D

10) (—1,3) and (-2,7)

Rise (Ay) = C]
Run (Ax) = [:]

Ay
Slope = —=
P€ = ax D

Calculate the rise and run to find the slope.

2) (3,5)and (6,2)

Rise (Ay) = C]
Run (Ax) = D

Ay
Slope = —=
oP€ = ax D

5) (—9,2) and (—1,6)

Rise (Ay) = D
Run (Ax) = C]

Ay
Sl = —-=
P ax D

8) (5,—4) and (2,3)

Rise (Ay) = [:]
Run (Ax) = D

Ay
Slope = v D

11) (4,1) and (3,1)

Rise (Ay) = C]
Run (Ax) = [:]

Ay
Slope = —=
oP€ = ax D

3) (8,7) and (4,7)

Rise (Ay) = C]
Run (Ax) = D

Ay
Slope = —=
oP€ = ax D

6) (4,—7) and (4,0)

Rise (Ay) = D
Run (Ax) = C]

Ay
Sl = —-=
P ax D

9) (7,—1) and (4,2)

Rise (Ay) = C]
Run (Ax) = D

Ay
Slope = v D

12) (8,5) and (9,8)

Rise (Ay) = C]
Run (Ax) = [:]

Ay
Slope = —=
oP€ = ax D
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